10.3 BOOKWORK ANWERS WITH WORK PG. 454 #0-8

. Most of the data are on the right, and the tail extends to
the left. So, the distribution 1s skewed left.

. The left side of the graph is approximately a mirror image
of the right side of the graph. So, the distribution is
symmetric.

. Most of the data are on the left, and the tail extends to the
right. So, the distribution 1s skewed nght.

. Most of the data are on the right, and the tail extends to
the left. So, the distribution is skewed left.



